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QUESTION 1
Your company has developed a service that allows your customers to check the status of an
order. The schema for the service is shown here:

<xsd:schema xxlns:xsd="http://www.w3.org/2001/XMLSchema ">
<x3d:element name="0OrderStatusloockup”>
<xsgd:complexType>
<xsd: sequence>
<xad: element name="customerID" type="xsad:string"/>
<x=d:element name="orderID" type="xsd:string"/>
</xs8d: sequence>
</xsd:complexType>
</xsd:element>
“xed: sleament name="Ordsr2tatusbesponas >
<xsd:complexType>
<xsd: 3squence’
<xzd:element name="orderID” type="xsad:string”/>
<xsd:element name="status" type="xsd:string”/>
<xsd:element name="comments" type="xsd:string”/>
</xsd: sequence>
</xsd: complexType>
</xsd:element>
</xsd;: schema>

A new customer plans to use your service, but they want to test it first. They have asked for two
sample XML documents that show typical input and output message content. Which of the
following pairs of XML elements will validate with the schema shown above?

Get Latest & Actual S90-05A Exam's Question and Answers from Lead2pass.
http://www.lead2pass.com



http://www.lead2pass.com/S90-05A.html
http://www.lead2pass.com/

* Instant Download % PDF And VCE % 100% Passing Guarantee » 100% Money Back Guarantee

T A <OrdergtatusLockup>
“eustomerID>12345</customaerID>
“orderID>44F12</orderID>

</OrderstatusLookup>

<OrderStatusResponse>
<oprderID>44F12</orderlD>

<status>PENDING</status>
~“eummenls Waibing Lur busck wveder Lo be [11)led</commenlss>

<commentz>*Will advise when in stock.</commenta>
</Order8tatusResponsze>

CB <OrderStatusLockup>
<customerID>12345</customerID>
<orderID>44F12</orderID>

</Order3tatusLookup>

<Order3tatusResponse>
<orderID>44F12</orderID>
<comments>haiting for back order to be filled</comments>

</OrderStatusResponse>

= C. <OrderstatusLockup>
<orderID>34F12</orderID>
<eustomerID>12345</ customerID>
</OrderStatuslLoockup>

<0OrderStatusResponse>
<orderID*44F12</orderID>
<status>PENDING</status>
<comments>Waiting for back order to be filled</comments>

</0Order3tatusResponze>

C D None of the above

Option A
Option B
Option C
Option D

Cow»

Answer: D

QUESTION 2

A partner organization has given you samples of XML documents retrieved from their product
information database. The three samples they have sent you are: Because they are an important
partner, you have agreed to write a service to accept XML documents in their format. However,
they did not send you a schema, so you are tasked with defining a schema that will correctly
validate their documents. Which of the following XML schemas will successfully validate each of
the above XML document fragments.?
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<product>
<number>123DD</number>
<name>3-Compartment Travel Rit</name>
2quantity>2</gquantity®

</product>

<product>
<number>445AB</ nunber>
<quantity>l</gquantity>
<name>13 inch. Rolling SBuitcase</name>
</product>

<product>
<number>9843AC</numher>
<gquantity>1</gquantity>
<name>Deluxs Travel Pillows/name>
</product>
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T A <xsd:schema xmlns:xsd="http://www.w2,org/2001/IHLIchema™>
<xad: element name="product’>
<xad:complaxType>
<xsd:seguence>
<xsd:element nane="number" type="xsd:string"/>
<xsd:element nane="nams" type="xsd:atring"/>
<x3d:element name="guantity"” type="xsd:intesger"/>
</x=d: sequence>
</xsd:complexType>
</xad:element>
</xad: schema>

T B, <xsd:schema xlns:xsd="http://wwwe.w3.0rg/2001/XMLEchema ">
<xsd: element name="product”>
<xsd:complexType>
<xsd:all>
<xad: element nane="gquantity"” type="xad:integer"/>
<x3d:element nane="number” type="xsd:string"/>
<xsd: element nane="name” type="xsd:astring”"/>
</xad:all>
</xsd:complexType>
</xsd:element>
</xsd: schems>

© €.  <x=d:schema sxmlns:xsd="http://www.wd, org/2001/XMLechena ">
<xs=d:element name="product’>
<xed:complexType>
<xsd: sequences>
<xsd:element nare="number"” type="xsd:string"/>
<xsd:element nane="name" type="xsd:string”/>
<x3d:element nane="guantity" typs="xad:integer"/>
<xsd:element nane="name"” type="xsd:string"/>
</x=d:sequence>
</xsd:complexType>
</xszd: element>
</xsd: schema>

cCD Nane of the above

Option A
Option B
Option C
Option D

oow»

Answer: B

QUESTION 3

Your company has developed a PO service that allows customers to submit purchase order
documents.

The message sent by a customer must be based on a predefined "purchaseOrder" element and
the message received by the customer is based on a "messageAcknowledgement” element.
These two elements are defined in the following two separate XML Schema definitions: The
"purchaseOrder.xsd" schema:
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<xzd:zschema xmlna:xsd="http://www, w3, org/2001/ZMLEchema”
targetNamespace="htip: //wws. example. org/po'>
<xsd:element name="purchaseOrder'">
<xad:complexiype>
<xsd: segquence>
<xsd:element name="number” type="xsd:string”"/>
<xsd:element nsme="date" type="xsd:date"/>
<xzd:element name="amount” type="xsd:decimal"/>
<xzd: element nsme="description” type="xad:string"/>
</xsd: sequence>
N/ xsds cumpleaTypes
</xsd:element>
</x=sd:=chema>

The "ackxsd" schema:

<xsd:schema xmlns:xsd="http://www. w3, org/2001/XMLIchema”
targetNamespace™ "http: /S, example, org/ack ™
<xsd:element name="nessageAcknowledgement’>
<xsd:complexType>
<xad: sequence>
<xad: element name="nunber” type="xsd:string"/>
<xzd:element nams="dateReceived" typs="xsd:date"/>
<xad:element neme="status” type="xad:string”/>
</xzd: segquence™
</xsd:complexType>
</xsd: element>
</ %x=ad:zchema>

Note that these two schemas have different namespaces. That is because the
"purchaseOrder.xsd" schema is specific to purchase order-related functions, while the "ack.xsd"
schema is more generic and used for a variety of different purposes.
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C A «définitions name="EOService"
targetNamespace="http://wew. example. org/wsdl/po”
xlns="hotp://schemas. xulsoap.org/wadl/"
slns: po="http://www. exemple. crg/po”
xmlns: ack="http://www, example.org/ack”
smlns: xsd="http://www, w3, org/2001/XMLSchema ">
<types>

<xsd: schema targetNamespace="http://www.example,org">
<xzd:impcrt namespace="http://www, exanple.org/po”
schemalocation="purchaseCrder.xsd"/>
<x=d:impcrt namespace="http://wnow. example. org/ack”
schemalocation="ack,xsad"/>
</x=d: schena>
</types>
<message nane="submitPOMessage”>
<part name="PO" element="po:purchaseOrder"/>
</message>
<meszage narwe="POAcknowledgement”">
<part name="PO" element="sck:messageicknowledgement"/>
</message>

</definitions>

C B, <Zdefinitions nawme="PFDSsrvice”
targetNamespace="http://vww. example. org/wadl/po”
wxmlns="http://schemas. xmlsoap.org/wsdl/"
sanlnas: po="http: //wwn, example, crg/po”
xmlns: ack="http://www. exanple,org/ack”
saulns:xsd="http: //www, w3, org/2001/ZMLEchema ">
<types>

<x=d:schema targetNamespace="http://www,example, org”>
<xsd:impcrt namespace="http://www. example. org/po”
schemalocatlion="purchaseCrder.xsd"/>
<xsd:impcrt namespaces="http://www.exanple.org/po”
schemaliocation="ack.xsd"/>
</x%sd: schena>
</types>
<message name="submitPOMessage">
<part name="PO" element="po:purchezeOrdetr"/>
</meamage>
<message neme="POAcknowledgement”>
<part name="PO" element="ack:messasgeAcknowledgenent"/>
</messager

</definitions>

T C. <definitions nsme="POService”
targetNamespace="http://www. exanple. org/wsdl/po"”
xmulng="http://schemas. xmlsoap.org/wsdl/*
xmlns: po="http://www. example, crg/po”
sxanlng: ack="http://www, example.org/ack"
slng: xsd="http: //www. w3, org/Z001/ZMLSchema ">
<types>

<xszd:schema targetNamespace="http://www.example.org"”>
<xsd:import namespace="http://www.example.orqg/po”
schemaLlocation="purchaszedrder.xad"/>
<xsd:import namespace="http://www.example.org/ack”
sclismaboce tiom "ack . xad />
</x=d: schena>
</types>
<message name="submitPOMessage">
<part name="PO" element="po:purchaselrder"/>
</measage>
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Option A
Option B
Option C
Option D

Cow»

Answer: A

QUESTION 4

Your developper is asked to build a Timesheet service that is able to receive timesheet
submissions for an internal payroll system. Service consumers need to be able to send this
service request message based on a root "employeeHours" element within the SOAP message
body. The "employeeHourse" element will contain "ernpID" and "hours" child elements.
Furthermore, the service needs to return a message based on a "response” element that contains
"emplID" and "status" child elements. Your developer comes to you with the following WSDL
definition: The only revision you suggest is that the value of the "style" attribute of the "soap:
binding" element be changed to "document" instead of "rpc". Why?
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<definitions name="Timeshest"
targetNamespace="http: //wwne, example. org/wsdl/timeshest"”
xmlns: tns="http://wwms. example. org/wadl/tineshest”
sxmlns: timeshest="http: //vwwaw. example. org/timesheet”
xmins="http://schemas, xmlsoap. org/wadl/ ™
xmlns: xsd="http: //vnw.w3.org/2001/XML3chema”
xanlng: scap="http://schemas.xmlsoap.org/wsdl/scap/">
<types>
<xsd: schems
sanlns: xsd="http://www. w3, org/2001/XMLSchema”
targztNamespace="http://www, exanple. org/timeshest">
<xszd:element name="employeeHours">
<xsd:complexType>
<xsd:sequence®
“xsd: element name="enpID"”
type="xasd:integer"/>
<xsd:element name="hours"”
type="xsd:decimal"/>
</xsd: sequence>
</xad:complexType>
</xsid:element>
<xsd: element name="responze’>
<xad:ocomplexType>
<xad: sequence>
<xsd:element name="empID"
type="x=sd:integer”/>
<xsd:element name="status"
type="xsd:string"/>
</xe=d:sequence>
</xsd:complexType>
</xsd;: element>
</x3d: schena>
</types>
“message name="TimesheetMessage'>
<part name="Timessheect"
elenent="timesheet: employsesHours"/>
</message>
<message name="TimesheetResponse’>
<part name="Response”
elenent="timeshest:responss"/>
</message>
<portType name="TimeshestInterface">
<pperation name="SubmitTimesheet”>
<input message="tns:TimesheetMessage"/>
<gutput message="tns:Timesheetnesponse*/>
</operation>
</portType>
<binding neme="TimesheetBinding"
type="tns: TimesheetInterface”
<goap:binding style="rpc"
transport="http://schemas.xmlscap.org/scap/hrep"/>
<operation name="JubmitTimesheet'>
<gpap:operation
scapAction="http://wwne, example, org/SubmitTinesheet”/>
<input>
<soap:body use="literal"/>
</input>
<output>
<zoap:body use="litersl"/>
</ outputs
</operation>
</binding>

</definitions>
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A. With a value of "rpc", the root element within the SOAP message body will have the name of the
operation, and therefore cannot be named "employeeHours" as indicated by the requirements.

B. With a value of "rpc", the root element within the SOAP message body is unable to be part of an
operation that contains both "input" and "output" elements.

C. The value of "rpc" is not a valid value for the "style" attribute.

D. None of the above.

Answer: A

QUESTION 5

You are a consultant helping a large bank implement an on-line banking service for its customers.
The first operation you need to build is one that allows a customer to initiate a transfer of funds.
You are presented with the following sample XML document that represents the funds transfer
information that this operation needs to be able to receive:

<transfer>

< fromAccount>12345 </fromAccount>

< toAccount>44432 </toAccount>

<amount>2000</amount>

</transfer>

You are also provided with the following sample that shows that the response message sent by
the service needs to return a single element with text content:
<transferStatus>SUCCESS«</transferStatus>

Which of the following XML schemas will validate the two samples shown above?
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T A <xsd:schema smlns:xsd="http://www.w3.o0rg/2001/2ML3chems ">
<xsd:element name="transfer'">
<xsd:complexType>
<x=d:sequence>
<x3d:element name="fromdccount” type="xsd:integer"/>
<x3d:element name="toAccount" typs="xsd:integer"/>
<x2d; element name="amount" type="xsd:decimal"/>
</xad: sequence>
</x=sd:complexTyps>
</xsd:element>
<xs=d:element name="transferItatus”>
“xsd:complexType>
<xsd: sequence>
<xsd:element name="status" type="xsd:string"/>
</xsd: sequence>
</xsd:complexType>
</xad:element>
</xsd: schema>

™ B <xsd:schema xmlns:xsd="http://www.w3.o0rg/2001/ML3cheta ">
<x=d: element name="transfer” type="transferType"/>
<xsd:element name="fromAccount” type="xad:integer"/>
<x=zd:element name="toAccount" type="xsdiinteger"/>
<xsd:element name="amount” type="xsd:decimal”/>
<xsd:element neme="transferStatus” type="xsd:string”/>
</xsd: schema>

" C. <xsd:schema sxaulns:xsd="http://www.w3.org/2001/IMLSchema>
<xsd:element name="transfer'>
<xsd:complexType>
<x=d:seguence>
<xsd:element name="fromAccount” type="xsd:integer”/>
<xsd:element name="toAccount” type="xsd:integer”"/>
<xsd:element name="amount"” type="xsd:decimal"/>
</x=ad:sequence>
</xsd:complexType>
</xsd: element>
<xzd:element name="transzferStatus” type="xsd:string"/>
</xsd: schema>

D None of the above

A. Option A
B. Option B
C. OptionC
D. Option D
Answer: C
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